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MODEL QUESTION 
FOR 

MATRIC EXAMINATION 
 SUBJECT – SCIENCE 

SET-V 
Physics 

1- fdl ysal dks vilkjh ysal dgrs\ 01 

Which lens is known as diversing lens? 
2- xksyh; niZ.k dh oØrk f=T;k 10 lseh gSA bldh Qksdlkarj D;k gksxh\ 01 

The radius of curvature of a spherical mirror is 10 cm. What will be its focal 
length? 

3- ikjlsd fdl HkkSfrd jkf’k dk ek=d gS\ 01 

Parsec is unit of which physical quantity ? 
4- okV&lsdaM ds lerqY; HkkSfrd jkf’k dk uke fy[ks\ 01 

Write down the name of physical quantity equivalent to watt-second. 
5- fo/kqr ghVj esa rkj dh dqaMyh fdl rRo dh cuh gksrh gS\ 01 

Coil of an electric heater is made up of which element? 
6- fdlh vory niZ.k }kjk oLrq dk vkHkklh ,oa vkof/kZr izfrfcUc cukus gsrq oLrq dh fLFkfr dgk¡ gksuh pkfg,\ 

02  

What will be the position of an object to form a virtual and magnified image by a 
concave mirror ? 

7- fudV nf̀”Vnks”k D;k gS\ bls nwj djus ds fy, fdl ysal dk O;ogkj fd;k tkrk gSA 02 

What is myopia ? Which lens is used to remove this defect. 
8- 100 okV ds ,d fo|qr cYc dks 250 oksYV ds fo|qr esu ls tksM+k tkrk gSA cYc ls izHkkfor /kkjk dk eku 

D;k gksxhA 03 

An electric bulb of 100 watt is connected with electric main of 250 volt. Then 
what will be the value of current following through this bulb. 

9- fo|qr /kkjk ds pqcadh; izHkko ls lacaf/kr nf{k.k gLr&vaxwBk ds fu;e dks fy[ksaA 03 

Write the “Right hand thumb rule” regarding magnetic effect of current. 
10- ukfHkdh; fj,sDVj ds fl)kar ,oa dk;Z fof/k dk lfp= o.kZu djsaA 05 

State and explain the principle and working of Nuclear reaction with neat 
diagram? 

Chemistry 

11- {kkjh; ek/;e esa fQukSyQSFkyhu lwpd dk jax dSl gksrk gSAA 01 

What is the colour of phenolphthalian in alkaline medium. 
12- fuEufyf[kr lehdj.k dks larqfyr djsaA 01 

Na+H2O — NaOH+H2

Balance the following equation 
Na+H2O — NaOH+H2

13- ,Ydsu dk lkekU; lw= D;k gksrk gSA 01 

What is the general formula of alkane? 
14- Qsfjd lYQsV dk vkf.od lw= D;k gSA 01 

What is the molecular formula of ferric sulphate. 
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15- QklQksjl dk bySDVªksfud foU;kl fy[ksaA 01 

Write down the electronic configuration of Phosphorous. 
16-  leko;ork D;k gSA bls ,d mnkgj.k ds lkFk Li”V djsaA 02 

What is Isomerism? clearify it with a suitable example. 
17- vk/kqfud vkorZ fu;e D;k gS \ 02 

What is modern perodic law ? 
18- Hk”e  rFkk {kkj esa D;k varj gS \  03 

What is the difference between Base and Alkali. 
19- fØ;k’khy  ewyd D;k gSA ,d mnkgj.k nsaA  03 

What is Functional group? give an example. 
20- fuEufyf[kr dkcZfud ;kSfxdksa dk lajpuk lw= fy[ksaA  05 

¼1½ ,Fksu  ¼2½  DyksjksfeFksu   ¼3½  QkeZyfMgkbM   ¼4½  casthu ¼5½ esFksuksfbd vEy

Write down the structure formula of the following organic compound? 
(a) Ethane  (b) Chloromethane  (c) Formaldehyde  (d) Benzene (e) Methanoic acid 

Biology 

21- izdk’k la’ys”k.k dk lehdj.k fy[ks\ 01 

Write the chemical equation of Photosynthesis? 
22- vehck esa ‘olu fdlds }kjk gksrk gS\ 01 

In amobia respiration takes place by? 
23- yky :f/kj d.kksa dk jax yky D;ksa gksrk gS\  01 

Why the colour of R.B.C is red. 
24- fdl xzafFk dks ekLVj vUr% L=koh xzafFk dgk tkrk gS\ 01 

Which gland is called master gland of the gland? 
25- fL=;ksa esa fu”kspu dgk¡ gksrk gS\ 01 

Where  fertilization takes place in female?  
26- ,M~l dk iqjk uke fy[ksa\ ;g fdlds dkj.k QSyrk gSSA  02 

Write the full form of AIDS? And also cause the causal organism. 
27- tSo fuEuhdj.k ,oa vtSo fuEuhdj.k inkFkZ esa varj Li”V djsa\  02 

Distinguish between biodegradable and non-biodegradable materials? 
28- thok’e D;k gS\ mnkgj.k lfgr fy[ksA 03 

What is fossil? Explain with suitable example. 
29- izksVhu esa ikpu esa HCL ds egRo dks le>kos\  03 

Write the important of HCL in digestion of protein. 
30- euq”; ds eknk tud rRo dk o.kZu djsa\ 05 

Explain the  female reproductive system of Human? 
    vFkok 

euq”; esa ikpufØ;k dk o.kZu djsa\ 

Explain the Mechanism of digestion in Human? 

Physics Objective 

31. 
¼i½ nk<+h cukus ds fy, iz;qDr niZ.k gksrk gSA 01 

¼a½ mŸky niZ.k ¼b½ lery niZ.k ¼c½ vory niZ.k ¼d½ bues ls dksbZ ugha    
Shaving mirrors are. 
(a) convex mirror (b) Plane mirror  (c) Concave mirror  (d) None of these 
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¼ii½ LisDVªe esa fdl jax dh fdj.k dk fopyu vf/kd gksrk gSA 01 

¼a½ yky  ¼b½ gjk  ¼c½ ihyk ¼d½ cSaxuh    
The deviation of which colours ray is most inspectrum. 
(a) Red (b) Green (c) Yellow  (d) violet 

¼iii½ fo|qr pqacd cukus ds fy, fdl inkFkZ ds NM+ dk mi;ksx gksrk gS\ 01 

¼a½ bLikr ¼b½ ihry ¼c½ uje yksgk ¼d½ buesa ls dksbZ ugha 

Rod of which of the following substances is used to make electromagnet. 
(a) Steel    (b) Brass  (c) Soft iron (d) None of these 

¼iv½ r vkse izfrjks/k okys n izfrjks/kksa dks lekukarj Øe esa tksM+us ij rqY; izfrjks/k gksxkA 01 

(a) nr       (b) 
�
�

 (c) 
�
�

 (d) buesa ls dksbZ ugha 

The equivalent resistance of  n resistors each of r ohm connected in parallel 
connection will be. 

(b) nr       (b) 
�
�

 (c) 
�
�

 (d) None of these. 

¼v½ y?kq iFku ds le; ifjiFk esa fo|qr /kkjk dk eku 01 

¼a½ de gks tkrk gS  ¼b½ fLFkj jgrk gS  ¼c½ cgqr vf/kd gks tkrk gS  ¼d½ fujarj cnyrk jgrk gSA 

At the time of short circuit the current in the circuit? 
(a) Reduces  (b) Does not change (c) Increases heavily (d) Varies continously 

¼vi½ ukfHkdh; fo[kaMu dks fu;af=r djus esa iz;qDr gksrk gS\ 01 

¼a½ yksgs dk NM+  ¼b½ LVhy dk NM+  ¼c½ dSMfe;e dk NM+  ¼d½ ,Y;qfefu;e dk NM+ 

Nuclear fission is controlled by using ?  
(a) Iron rod (b) Steel rod (c) Cadmium rod   (d) Aluminium rod 

¼vii½ gekjh vkdk’k xaxk dh vk—fr lkeus ls dSlh gksrh gSA 01 

¼a½ nh?kZor̀h;  ¼b½ òŸkh;  ¼c½ ijoyh;  ¼d½ lfiZy 

The shape of our milky way from front is. 
(a) Elliptical        (b) Circular  (c) Parabolic (d) Spiral 

CHEMISTRY 
¼viii½ vEy jkt esa HCL ,oa HNO3 dk D;k vuqikr gksrk gSA 01 

(a) 3:1       (b) 1:3  (c) 2:2     (d) 1:2 
What is the ratio of HCl and HNO3 in aguareria? 
(a) 3:1       (b) 1:3  (c) 2:2     (d) 1:2 

¼ix½fdlh mnklhu ?kksy dk PH fdruk gksrk gSA 01 

¼a½ 7   ¼b½   3   ¼c½  10   ¼d½ 5 

What is the PH of Neutral solution 
(a) 7     (b) 3  (c) 10     (d)5 

¼x½>c=0 fØ;k’khy ewyd dk D;k uke gSA 01 

¼a½ fØVksu ¼b½ ,Ydksgy ¼c½ mFkj ¼d½ ,fYMgkbM 

What is the name of the >c=0 functional group.
(a) Ketone       (b) Alcohal (c) Ethen (d)Aldehyde 

¼xi½fuEufyf[kr dkcZfud ;kSfxdks ls dkSu lk ;kSfxd ,Ydkbu gS\ 01 

¼a½ ,lhVhyhu ¼b½ feFksu ¼c½ bFkkmy ,Ydksgy  ¼d½ DyksjksQkeZ 

Which of the following compound is Alkyne? 
(a) Acetylene      (b) Methane  (c) Ethayle alcohal (d) chloroform 
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¼xii½dSfYl;e dk ijek.kq la[;k D;k gS\ 01 

¼a½ 20   ¼b½ 15   ¼c½ 17   ¼d½ 18 

What is the atomic number of Calcium? 
(a) 20       (b) 15  (c) 17    (d) 18 

¼xiii½bFkkby ,Ydksgy dk v.kq lq= D;k gS\ 01 

(a) C2H5OH       (b) CH3OH (c) C2H6      (d)CH3OCH3 
What is the molecular formula of ethyl alcohal. 
(a) C2H5OH       (b) CH3OH (c) C2H6      (d)CH3OCH3 

¼xiv½bFkhu ds ,d v.kq esa dkcZu ds nks ijek.kqvksa ds chp v[kU/k dh la[;k D;k gSA 01 

(a) 2    (b) 3     (c) 1    (d) 4 
What is the number of bonds in between two carbon atoms in ethene gas. 
(a) 2    (b) 3     (c) 1    (d) 4 

Biology Objective 

¼xv½ikS/kks esa ‘olu fØ;k ds vUrxZr ADP ds VqVus ls fdruh mtkZ eqDr gksrh gS\ 01 

(d) 30.5 kg/mal       ([k) 305 kg/mal   (x) 3.5 kg/mal     (?k) buesa ls dksbZ ugha 

How much enegy exberates is bucking of down ADP during respiration in plants? 
(a) 30.5 kg/mal       (b) 305 kg/mal   (c) 3.5 kg/mal   (d) None of these 

¼xvi½iz—fr esa vkWDlhtu dk larqyu dSls cuk jgrk gS\ 01 

(d) la;kstd fØ;k  ([k) izdk’k la’ys”k.k  (x) vi?kVu  (?k) buesa ls dksbZ ugah 

How does organ maintain balance in nature. 
(a) Combination      (b) Photosysthesis  (c) Dicomposition   (d) None of these 

¼XV½ekuo g~n; esa fdrus dks”V gksrs gS\ 01 

(d) 2     ([k) 8 (x) 1  (?k) 4 
How many chambers are there in human heart. 
(a) 2     (b) 8 (c) 1  (d) 4 

¼xvii½ekuo ân; esa fdrus dks”V gksrs gSa \ 01 

(d) 1  ([k) 8   (x) 1  (?k) 4 
How many chambers are there in human heart ? 
(a) 1  (b) 8 (c) 1 (d) 4 

¼xviii½oD̀d ds lajpukRed ,oa fØ;kRed bZdkbZ dks D;k dgrs gS\ 01 

(d) Xykses:yl  ([k) cksesu laiqV   (x) eq=okfguh  (?k) usQzku 

The structure and functional unit of kidney in called? 
(a) Glomeralus  (b) Bowman’s capsule (c) Ureter (d) Nephron. 

¼xix½euq”; ds ;qXed esa xq.klq= dh la[;k fdruh gksrh gS\ 01 

(d) 23      ([k) 46  (x ) 22   (?k) 22 tksM+k 

How many chromosome in gametes of human. 
(a) 23      (b) 46  (c) 22   (d) 22 pair 

¼xx½buesa dkSu izdk’k la’kys”kh vaxd gS\  01

(d) iŸkh  ([k) gfjryod   (x) xzkuk   (?k) LVªksek 
In which of the following Photosysthetic organules has? 
(a) Leaf      (b) chloroplast (c) Granna (d) Stroma 
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